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QUIZ NO. 6

Score /10
A PNP common-collector amplifier is shown. v v
Assume the parameters of the transistor are g ¢ £
=100, V,=25mV,and V4 = eo. (a.) If Io=1 Ry= Re= %Tlout
mA, find the small signal model parameter 100kQ< 2kQ Rout
values for g, and r. (b.) Find an algebraic R.,
expression for the small signal input i C =00 +
resistance, R;,, the output resistance, R, the —d %I ( K
voltage gain, v,,,/v;,, and the current gain, Vi R, = Vout
loutbiy- (c.) Numerically evaluate the small 100kC -
signal input resistance, R;,, the output L = —I—
resistance, K,,,,, the voltage gain, v, /v;,, and . FO2QU6P 1

H‘t’
the current gain, i,,/i;,



